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rNumbers & Operations in Base 10 3NBTI i

l Name Date I

@@Uﬂdiﬂg numbers :

Round the
Following number
to the nearest IO

Round the
following number
To the nearest 10

Round the
foliowing number
to the nearest 100

Round The
following number
to the nearest 100

Is 360 closer to 300 or H00? ______ Is 880 closer 1o 800 or 9007 ——

8. Place 694 on the number line below. A Place 258 on the number line below.

| | | | | 1 1 1 | | L l 1 | 1 1 1 i | | |

690 700 250 260 [
Is 694 closer to 690 or 7007 ______

0. A three digit number has the digits 2, 5, and 7 When rounded to the
hearest hundred it rounds to 800 WhaT is the number? ____

im Mlller‘ 20I6




Numbers & Operations in Base I0 3.NBT.2|

Date !
i

Add & Subtract!
Whole

2. Find the difference.

PN,
=T
= \¢

3. Find the missing number.

62 57

-38 +
82

6. Find the missing number.

423

5. Find the difference.

347
- 262 %
705

4. Find the sum.

136
+ 173

7. Jesse scored 486 points
on a video game. Apri
scored 182 points. How
many more points did
Jesse score than Apri?

8  Mrs, Miler drove 278
miles on Monday and 342
miles on Tuesday. Write
and solve a number
sentence to find how far
she drove in all.

9. Lanie has 225 pennies, 105
nickels, and 25 dimes.
How many coins does she
have in all?

a summer pool party.

I0. The table below shows items purchased for

Which number sentence can be used o

find how many more bottles of water

Ttem

Number Purchased

Bottled Water

30

Popsicles

24

Pool Toys

r
I
I
I
I
|
b
f
t
I
I
I
[
i
I
I
|
I
t
|
I
I
[
t
I
I
[
!
[
I
|
[
I
I
I
I
|

12
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than popsicles were purchased?

A 36-12=____
B. 3%6+12=___
C 3%6-24=___
D. 36+24=____

N--_-----




I Numbers & Operations in Base I0 3 NBT3'
: Name Date f

YWMULTIPLY :
L0l NUMpers:

2. Which method 3. What is the

shows one way to product of 3 x 80°?
Find 4 X 207

A. Multiply 4 x 2, then
add I0

B. Multiply 4 x 2, then
'C.

How does knowing the
| | product of 3 x 8 help
You solve 3 x 80?

multiply by I0
Multiply 4 x 10,
then add I0

weeks?

: EE mww m
4 Jake mows lawns 5. Kelly runs 2 miles 6. Which equation is l
| in the summer. He each day, Monday true? ]
earns $I0 for each ' through Friday.
[ lawn he mows. He How many miles Ll AS0x2=52 LI
| mows 2 lawns does she run in 4 B 50x2 = 00) |
I each week. How weeks? C.50x2=5 2 ]
much money will . X2 =230 l
| Jake earn in 9 1000 L/ i
: =

8. Which equation
meadns the same

94 Andrew is on the
track team. He

I L drinks has 24 cans

l - in it. How many as 7 x 60? runs 20 laps
total cans are around the track
| there in 6 cases? A7x6+0 every day. How
Iy g 2 7x6x0 e
i C.7x6+I0 ~
s ol D 7 x6xI0
i

© Kim Miller 206 3
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r?)per*aﬁons & Algebraic Thinking

Name

30Al

Date

Becca collected 6 boxes
of seashells. She put 7
seashells in each box.
which of these shows
how may seashells Becca
has collected?

C6x7

. o+7
.6x6x6x6x6x6x6
T XTXTX7xX7T X7

2. which equation below is
represented in tThe
picture?

 5x5x5x5
. 4x5-

3. Liz has 4 boxes of
crayons. Each box
contains 8 crayons. Write
an expression Liz could
use to show the totadl
number of crayons she
has all together?

Which expression is
represented by this
array?

666686
666686
6666686

. Dan has 8 pages of
baseball cards. There are
8 cards on each page.
How many cards does
Dan have in all? Write a
number sentence to
solve the problem.

. Allysa makes 3 bracelets.
Each bracelet has 9
beads. She uses 3 x 9 fo
find the total number of
beads. Her friend puts
ohe more bead on each
bracelet Allysa makes.
What new multiplication
fact can be used to find
the total number of
beads they used?

. Mrs. Smith baked 3
batches of cookies. Each
batch had 2 cookies.
Which expression shows
how many cookles Mrs.
Srnith baked?

A 12+3
B. 12-3
C. 1Z2x3
D 3+3+3

8. Draw an array to match
the word problem below.

Holly has 3 boxes of
popsicles. Each box has 5
popsicles in it. How many
popsicles does Holly have
all together?

. Which Is another way to
find the total number of
ladybug legs?

—E--_--_------_--'—-
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rOper*aTions & Algebraic Thinking

Which equation is shown
by the picture?

£ £ 0000
o o | By
ENEM
o non
TINNE

" divide equally between his

SOw>

Mr. Richards has $I5 to 3

3 children. Which equation
could Mr. Richards use o
find out how much
money each of his
children should receive?

5+3=18
5-3=12
b+3=5
Bx3=H5

Amanda has a bag of 32
popsicles o give out at
her pool party. There are
7 girls at her party. IF
she divides the popsicles
between all The girls,
including herself, how
many popsicles will each
girl get?

A
B.
C.
D.
4.

Addison read 45 books 5. Danbuys 6 packs of gum | 6. Julie drew the picture
over the summer. She with 5 pieces in each pack. below to match an
sorts her books into 5 He shares the gum evenly equation. Which equation
equal groups. How many among himself and 5 matches Julie’s picture?
books does she put in friends. Write an equation
each group? to show many pieces of % % %
v um will each friend
geceive? %& %& %%
A 3x3=9
B.9:3=3
C 9-3=¢6
D. 27+-3=9
7. Leah bought 54 8. Nick has collected 60 9. Abby makes I2 cupcakes
strawberries. She put rocks. He puts an equal for 6 friends. She wants
the same number of number of rocks into 5 to know how many
strawberries into 9 boxes. How does Nick find cupcakes each friend will
baskets. Write an the number of rocks in get. Which expression will
eduation to show how each box? help Abby find the
many strawberries she humber of cupcakes
put in each basket. A. He multiplies 5 times 60 each friend will get?
B. He subtracts 5 from 60| A. 12+6=2
C. Headds60to5 B. 2x2=6
D. He divides 60 by 5 C B-6=3
D. Zxe6=72

© Kim Miller 2016
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:-Oper‘aﬁons & Algebraic Thinking

Date

R
e ¥

ITTTY

30A3 I

Word Problems
MSinj Multiplication & Division

Matt is preparing
envelopes to be mailed. It
takes him 2 minutes to
prepare edch envelope.
How long would it Take
him fo prepare 6
envelopes?

. 18 minutes

. 26 minutes
. 30 minutes
. 32 minutes

2. Eight hotdogs come in a
pack. Katie used the
Following number
sentence 1o find the
number of hotdogs in 7
packages.

8+8+8+8+8+8+8=__

Finish the equation to show
another way to find the
number of hotdogs in 7 packs.

x =

3

Scott has 56 pieces of
candy to share evenly
among 8 friends. How
many pieces of candy will
each friend get?

. b pieces of candy
. 7 pieces of candy
. 8 pieces of candy
. 9 pieces of candy

. Aladybug has 6 legs.
Which equation shows the
number of legs on 5
ladybugs?

. 6x5=30
. 5x5=25
. 30+6=5
. 30+5=6

5. Michael bought 6 video
games at the store for
$42. If the price for each
video game was the
same, how much did he
pay for each video
game?

. Tara places 4 bowls on a

table. She puts 4 scoops
of ice cream in each bowl.
How many scoops of ice
cream does Tara place in
the bowls all together?

. 4 scoops
. 8 scoops
. 12 scoops
. |6 scoops

. There are 36 children at
a summer library
program. The librarian
forms 4 equal groups.
Which number sentence
can be used 1o find the
number of children in
each group?

.3 +H=___
. 36-Y4Y=___
3=
C3xH=___

Twelve people want o
see da movie. If each car
can hold 4 people, which
equation shows how
many cars are needed 1o
take dll IZ people To the
movie?

. 12+4=3
. 12+4 =16
. 12-4=8
C12x4 =48

. Jan bought 3 cans of

frozen lemonade. She can
make & cups of lemonade
with each can. How many
cups of lemonade can
Jan make in all?

. Icups
. 2l cups
. 24 cups
. 27 cups

© Kim Miler 20l6
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r(.)per‘aﬁons & Algebraic Thinking

Name

Date

30A5

PROPCRT]

0f

OP@YOSYOH

Communitive

Associative

Distributive

Zero

We can swap
numbers and
change the order,
but the product
stays the same.

It doesnt matter
how we group the
numbers. The
product stays the
same.

You can muttiply a
sum by multiplying
edch addend
separately and then
add the products.

When we muftiply
any number by
zero the product is
always zero.

Any Time you
multiply a number
by one, the product
is The original
number.

1X3=3X12

ZX(3X1=(2X3)X1

ZX(3+4)=2X3+2XY4

6X0=0(0R)0X¢=0

1X1=9(0R)1X9=1

Given the equation 2 x 8 x 5 = &0,
which expression dlso equals 807
A 2+8+5
B. 8x5
C. 5x2x8
D. 8x5x3

. Which expression is equivdlent to 2.
3x (6 +9?

AGB+e)+(3B+9)

B. Bx6)+(3+9)

C. (3+6)+(3x9)

D. 3x6)+(3x9)

. Which number sentence is hot equal?
A 8+2=2-+8
B. 8x2=2x8
C. 8x(2x4Y)=(8x2)xH4
D. 8x(2+4)=8x2+8x4

. Which number sentence is True?
A U4xBx2)=Hx5)x2
B Ux(B5x2)=4x5+2
C UxBx2)=H+5x2
D. Y4x5=4Hx2

. Which number will make the number
sentence true?

. Which number will make the
number sentence frue?

Ux(2x6)=MHx__)x6 6X7=____X6

. The example | x 9 = 9, is an
example of which property?
A. Zero Property
B. Associative Property

. The example 5 x 0 = 0, is an
example of which property?
A. Distributive Property
B. Identity Property
C. Associative Property C. Identity Property
D. Zero Property D. Distributive Property

© Kim Miller 206
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rOper‘aﬁons & Algebraic Thinking

30A6

-~ DiVision
v 0w F

1) Ally wants to find | 3) Which set of

the quotient to 5 = 3,
Which expression
would help Ally find
the answer?

5-5
5+5
5x3
5x3

the same missing
number as:

2) Which method could |

Jake use to solve this
problem?

8x___=56

. Add 8 and 56
Subtract 8 from 56
Divide 56 by 8
Muitiply 56 times 8

| 5) Tara wants to find
the quotient to 32 - 8.

Which expression

expressions DO NOT
belong to the same
fact family?

. 20=4and4 x5
20 -5 and 20 x 4
Yx5and4+ 20
S5x4and5 =20

6) Whicexpr‘ession

CANNOT be used to
solve:

would help Tara find
B+6=___ the answer? 2 «___ =
6+ - &+4 . 2 xi
Bxo6=__ . 8xH . 3xH4
6X___= . 32 x4 . bx2
B-6=__ | - 32-4 ! . 5x7

8) To find 36 + 4, what question should you

7) What question can be asked to solve the
ask yourself?

number sentence I8 = 97

A Y fimes 36 equals what number?

What number equals 2 when multtiplied by 9?
B. 4 fimes what number equals 36?

What number equals 9 when multiplied by 2?
. What number equals 9 when multiplied by 182 | C. 36 times what number equals 4?
. What number equals 18 when multiplied by 42 | D. 36 times 4 equals what number?

I0) There are 8 children at an art party.
They have a total of HO colored pencils to
share equally. Which number sentence can
be used to find the number of colored
pencils each child will get?

A 5xHO ___
B. _..-5=8
C HYOx8=__

ﬁ D. 40+__=5
gy i At ——

© Kim Miller 206

9) Macie has 56 strawberries to sort into
baskets. She wants to put 8 strawberries
into each basket. Which equation can be
used To determine the number of baskets
she needs?

I
!
3
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rz)per‘aﬂons & Algebraic Thinking

Name

Date

2.32+8=_____

3. 20+2=_____

6. 21+3=_____

I7. Write a
related fact
FordxH4=16.

. Write a
related fact
for5x3 =105

' related fact
for 27 -9 =3

x =

20.Write a
related fact
forH0 -8 =5

X =

2. Mr. Nix has 8
grandchildren. He
wants fo give
each grandchild 3
books. How many
total books does

he need? write an
expression and solve.

22. Lacihas 8
cookies. She and
3 friends share
them equally.
How many
cookies did they

each get? write an
expression and solve.

23. Erin's dance
teacher wants o
put 48 dancers
info 6 groups.
How many
students will be in

each group? write
an expression and
solve.

Z24. Randy had
guitar lessons 7
times each
month fFor 9
months. What
was the total
number of guitar
lessons Randy

had in 4 months?

Write an expression
and solve.

Write the related facts (Fact family) for the arrays.

25. 00000 __x ___
OO000 o x
[ |

© Kim Miller 20i6

26.0000 ___x __
00 ___x
ood -

2700___x___=___

OO x
|
I |
Ood—-
o

0.



rOper‘aﬁons & Algebraic Thinking

elﬂs

OO T []|||||||“E|[|[l]lllllllIIlI
L Callie had I3 new pens. Wes and Joey each

She gave 2 pens to have 7 baseball cards.
each of her 6 friends. Ben has 5 Fewer

How many pens did cards than Wes and
she have left? Joey combined. How
many baseball cards
does Ben have?

Kylie had a pack of 48
crayons. She lost 8 of
the crayons at

school and her sister
broke 4 of them.

How many crayons
does Kylie have how?

. 60 crayons
. 52 crayons

. 2 baseball cards
. |l pens . 5 baseball cards

12 pens . 9 baseball cards . 36 crayons
D 2l pens . 10 baseball cards 1Z crayons
L T O T T T LTI

RRRRRRNRANN NN A RN R R RN TR) NERRERRNFA RN RANERERRNARRIRE LT T

4 Mark got $I0, $20, $i5, 5. Pete caught 4 Fish. 6. Kat has 3 piles of
and $5 as birthday Robbie caught 3 rocks with 7 rocks in
gifts. He wants to times as many fish each pile. Her friend
buy a game that as Pete. Nic caught adds more rocks to
costs $55. How much 27 fish. How many the piles. Now, there
more money does he more Fish does Nic are 327 rocks total.
need? have than Robbie? How many rocks did
her friend bring?

A. llrocks

. Ipen

LULL LTV IV TTTTITTTT

(NN RAANAY R IRET AR RANAN YR
LU T I

MULL L DI Y N DT YT LI T]

MLLLULH R ITTY T LTI ITT

. $4 . 24 more fish
. $5 . 5 more fish B. 12 rocks

$6 . & more fish C. 2lrocks

$8 . 7 more fish D. 22 rocks
1unmuuunuuluumi T T T IO

LALL LD AT LT T TITT
VALV T TR

LT T T T

7. A farmer fills 4
cartons with eggs.
Each carton holds 6
eggs. After the
farmer fills the
cartons he has 3
eggs left over. How
many total eggs does
the Farmer have?

9. Andrea wants to
save 900 Box Tops.
She saved 135 in one
month. She saved 83
the next month.
About how many
more Box Tops does
Andrea need to save?

. fewer than 300
. between 300 and 600
A 1B min C. 4Y9min. . between 600 and 800

B. 30 min. D. 59 min. more than 800
TTTTTTITTITITT I I0] Illllllllllllllllllllllll“l

Taylor spent 90
minutes at the
beach. She ate lunch
for 27 minutes and
played a game for 32
minutes. She spent
the rest of the time
swimming. About how
long did Taylor spend
swimming?

MLLLE VOV I EACIY VTR T

. 27eggs C 2leggs
. Z4eggs D. 20eggs

LU T TTTICTTTTTT TS
LR LTI
AVENERRARANAYR IV RN R RRNNI )

LU R TTITITTT

R -
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F)pemﬂons & Algebraic Thinking

Name

Date

FIND THE

rarteyn

3OA°I|

V'V VvV VvV VYV vy VvYy

1.

. IF the pattern continued,
what number would come
next in the sequence?

3, 275, .
What rule does the pattern
foliow?

2. What are the missing Two
numbers in this pattern?

,2,4,8, .,

What rule does the pattern
follow?

3. IF the pattern continued,
what number would come
next in the sequence?

912,518, ___
What rule does the pattern
Follow?

4 The numbers on the
triangle form a pattern
from the top to the
bottom. What rule is
followed to make the
pattern shown?

. subtract 50
. add 50
. subtract 25

5. Which shows the shirts
arranged in a pattern
counting by five?

 BBO
- RO
- DOOE
- OO

6. Which statement is frue
about this y and z chart?

L L LL
L .
N N N
i nun
ORIN N

7. Which is True when any
number is muttiplied by 27

. The answer will be even.

. The answer will be odd.

. The answer will end in 2.

. The answer will be a two-
digit number-.

8. Tori said that anytime an
odd number is multiplied
by any other number,
the answer will always be
an odd number. Which
multiplication Fact proves
Tori is incorrect?

A 3x7 C. 7x5
B. 5x6 D. 9x3

. Larry found a pattern
when he muttiplied
numbers by 8. Which
pattern could Larry have
Found?

. all products are odd numbers
all products end in 8

. all products are even numbers

. all productsend in O

I
I
k
b
I
]
i
I
I
I
!
I
I
|
I
{
I
I
I
I
I
[
I
I
I
I
I
I
=
O Ki

I0. Mrs. Brown’s class is studying patterns. Four of her students made the statements below.

+ Ricky sald, “Adding two even numbers equals an even sum.”
« Tara sald, "Adding two even numbers equals an odd sum.”

+ Alex sdid, "Adding two odd numbers equals an odd sum.”
+ Lani sald, “Adding Two odd numbers equals an even sum.”

Which student is correct™?

_
im Miler 206

. Ricky is correct.

. Tara is correct.

. Alex is correct.

. Ricky. & Lani are correct.

ﬁ-----—---------




:-Number and Operations - Fractions

Name

What fraction of the
shape is shaded?

A

2. What fraction of the
shape is shaded?

s

3. What fraction of the
shape is shaded?

. Amy's family had pizza
for dinner. The shaded
parts below shows how
much was eaten. Which
fraction shows how
much pizza was left?

&

A X C

B. D.

5. Which fraction model
shows_2 shaded?
6

i
AN

LR

6. The circle below shows
one whole. Shade the
circle to show 3.

. Wesley drew a model of
a candy bar and shaded
the amount he ate. What
fraction of the candy
bar did Wesley eat?

=
P

el |
i (P

ASr3c2pD
2 5 6

8. Kasey drew a hexagon
and shaded it 5. 5

Which shape could be hers?

P &
IRV

. Mrs. Smith cut an apple
into 8 equdl slices. She
gave 3 of the slices to
her son and 2 siices to
her daughter. Which
Fraction model shows
how many slices Mrs.
Smith has left.

B. C.

© Kim Miller 206




I Number and Operations - Fractions

' Name

. On which number line does the point best
r‘epr*esenf 4

A <=4
0

B. «—i

C. <t

D. -—

2. Which number ine shows point X at 32

° X
l:,f : ; : :
‘ X
t:""::.4.::

X
3 3 3 .

A
B.
C
D

X
&
e
1
>
1
>
1

0

3. What is the value of point P on the
number line below?

*— + ' ——

0 1

2 a1 1 1
Ag B.g Co D5

4. Pat is going to plot a point q‘r on the

number: line below.
Where should Pat plot the point?
A B. C. D.
———o—o—¢>

5. What is the fraction on which the smiley
face is located?

4; @ t i)

2 1 1
Ag B.Z C3 D.1

6. What fraction belongs in the box?
<t

o D

1 1
A3 B.g

2
C3

7. The number line below is divided into equal
parts between O and | What fraction is
shown by the shaded part of this number
line?

T i t t

0 1

1 1
A D2

c2

1
Bg 5

8. What is the interval between each point
on The number line below?

A ————i—
1] 1

1 1
Al B ¢y o

9. Jake's race is divided into checkpoints on
the number line below. How far through
the race is Jake when he reaches
checkpoint X?

X

<
0

1 1 1
A B3 C4

0. What is the length of the line segment
below?

»r—g

< t
°

1
A

2
C§ D.1
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Number and Operations - Fractions 3NF3 [

Date I
{

Fractions:

Which sha_pe_ is at The fraction 4 on the 2. Which fraction on the number line is equal
number line? 4 to one whole?

D <—i +
& 0 1
E / 5

- A S B3
3. Model | and Model 2 are each divided into 4. Which model correctly compares the two
equal parts with 3 parts shaded on each fractions below. _
model Which statement correctly
compares the Two models?

Model | ___Model Z

i '
8

A Modellis equal to model 2 because the numerators
are the same.

B. Modellis greater than modetf 2 because it has a
larger denominator.

C.  Modellis less Than model 2 because 3 parts out of
6 s less Than 3 parts out of &

D. Modellis greater than model 2 because 3 parts out
of 6 is greater than 3 parts out of 8.

5. A recipe for trail mix requires the . Four fenths of the model is shaded below.
foliowing ingredients. . Which fraction is equivalent to the shaded
portion of this model?

1 cup of peanuts 2 cup of sunflower seeds
3 3

1 isi 2
5 Cup of raisins 7 P of almonds A

Which two items did the recipe require the
same amount of ? B D

7. Which list includes equivadlent fractions? . Which of the following is equivalent ’ro_%?
i S5 1 1
A5 C 2 A 5 C 5

B4 D. 2 B. 1 D. &

9 Janie ate the shaded portion of the ple. Write
two equivalent fractions that represent the
l portion of the ple that Janie ate.

© Kim Miler 20i6




A}

I Name

Teldin

Julia went To the pool 60
minutes after the time
shown on the clock. What
time did Julia go to the pool?

Lily's birthday party last one

"~ hour and thirty minutes. The

clock shows what time her
birthday party ended. What
time did Lily's birthday part

Which clock best represents

" the fime shown on the digital

Mrs. Smith started
cooking 45 minutes
before the time shown
on the clock. What time
was it when Mrs. Smith
started to cook?

The time now is 3:20. Jake
has 1o leave for baseball
practice in 5 minutes.
Which clock shows The
time Jake will leave for
baseball practice?

6. Molly leaves for her
grandparents house at the
time shown on the clock.
She gets back home 3
hours and 30 minutes later.
What time did Molly get

A 6
B. 645
C. 600
D. 530

i Measurement and Data

Date

| Tt took 18 minutes

Kyle leaves his house
at 2:30 to go To walk |
his dog. Taylor leaves
her house 20 minutes l
earfier to walkk her I
dog. What time did
Taylor start walking l
her dog?

. k20

E

. 240

D. 24O

Kasey gets up at 645
am. She eats
breakfast at 7:20
am. How long is it
after Kasey gets up

before she eats
breakfast?

A. 55 minutes
B. 60 minutes
C. 65 minutes
D. 70 minutes

for Scott to walk fo
Mark’s house. If he
left af 748, what

time did Scott get b
1o Mark’s house? |

© Kim Miller 206
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I Measurement and Data

Name

I
i }
b I
i — — |
I I Which object weighs . 3. Which of the Following I
about | kilogram? would hold about | iter?
I I
i i
| i
r I
i i
[ I
I H A fish tank holds 200 5. Michael Feeds his dogs 6. The mass of 12 grapes is I
liters of water. If 88 about 5 kilograms of dog 72 grams. Each grape has l
l more liters of water are food per day. About how the same mass. What is |
needed to fil the tank, much dog food does he the mass of one grape?
' how many more liters of Feed his dogs in I0 days? I
| water are already in the |
| tank?
A 12 liters A. 5 kilograms A 5grams l
l B. 122 liters B. 20 kilograms B. 6grams I
] C. 188 liters C. 50 kilograms C. 8grams I
: D. 288 liters D. 100 kilograms D. 2 grams |
I 7. Mrs. Brown uses 8 bags 8. Rosa had a fish tank 9 Wesley had 2 pieces of I
of Flour a day to bake filled with 56 liters of bread They each weigh I
| cakes for her bakery. water. She emptied the 25 grams. How much do I
Each bag has a mass of fish tank by filling a the two pieces of bread
l 6 kg. How many kg of container that holds 7 weigh altogether? l
| fFlour does Mrs. Brown liters of water. How I
I use each day? many times did she fill l
The container foempty | 4 5
I A kg the Fish tank? - 23 grams !
B. 48 kg B. 27 grams
l C. HYOkg A 6times C. 8times C. 50 grams '
I D. 36kg B. 7 fimes D. 9fimes | D. I00 grams I

[ -
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r Measurement and Data 3AMD3 I

Mr. Hackberry counted the . Jillan surveyed l6 of her . The cheerleading team held
number of animals on his friends about their a bake sdle fundraiser.
farm. He counted 4 cows, 9 favorite type of cookie. Each item cost $l. They sold l
pigs, I7 chickens, and 6 goats. Her results are below. 450 cookies, 200 cakes, 350 l
Make a bar graph to show Chocolate Chip | 6 brownies, and 600 pies.

the number of animals on Make a bar graph to show l
his Farm. Sugar 3 how much money they
Oatmeal 5 earned from each ifem
sold. -

Animals on Hackbery Farm

Ginger Snap 2

Draw a pictograph to show
the number of people that
liked each cookie.

Bake Sale Fundraiser

8

g

8

Favorite Type of Cookie

g

Number of Animals
OMNM DO SR E

g
S

Money Raised

Cows Pigs Chickens Goats
Type of Animal

l 2. How many more chickens
are there than pigs?

I A 3 more C. 9more

g

Cockles Cuokes Brownies Pies
Type of Treat

. Based on the results, which
I Chocolate  Sugar  Oaimeal  Ginger ftem should they make
B. 8 more D. Ilmore Chip Snap more of to sale at their
. = 2 People next bake sale fundraiser? ||

3. How many animals did Mr. _
) 5. How many more people A. cookie C. brownies
! Hackberry have in al? liked oatmeal than sugar? g

A 46 animals C. 4O animals A Y more C. 8 more

I B. H5animals D. 3l animals B 3 more D. Zmore 8 What interval was used
for this scale?

B. ples D. cokes |

0

Survey friends and family Favorite Color
members about their
favorite color. Make a
pictograph to show how
many people liked each
color. Based on your results
create a question with
answer choices about your
graph. Be sure to circle the A A

correct answer. @ - 2 people B. B.

© Kim Miler 20i6
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i Measurement and Data

I Name

MCOSUINg

Q

' [ Which measurement is
closest to 1_'he length of
: the papercip? 4 Jenny measured the rocks in i ~ l
her rock collection to the | _
nearest of an inch. How many I fafed g8 % [
I rocks measured more than 12 o S22 i
[ of an inch? ) I 723 |
i X x | s %8 g I
X X X X X | 23 g
X XX xox s ogd |
I.,.1 3 1 1 RN : poj 85 |
.. A 3 _ - w
|A-12 B1a C27 D25 Al B9 €5 Dy I S5
Sl 58
I ! 523 1
. o =273
[ Z Faﬁ:hrgc{e:asur‘ed trl"’f 5. Which measurement of string | B2 29 §‘ I
eng Some STraws. is closest to a2 ? I =3
I The length of each straw 4 [T o 5 1
is plotted on the line plot I 3 %
l below. How many straws lo 1 2 3 4 5 I £R l
I are less than 74 inches? I.r.l.:.]u.!.uf;h':h [ 4 (:_gt}" l
« - ~
A %
s, S . l o |
| < X X X X B. | B I |
l 7 73 % 73 8 C | = I
‘ A7 B.6 C.3 D.I D. 2 I :
I
: 3. Which measurement is 6. What is the length of the I l
ClOSﬁST?fO the length of the pencil to the nearest 4 inch? | |
4 I F 12 3 4 s o 1 7] o
I 0 1 2 3 4’ IlnllIrlll:’J!r{j]J_l_jll | ('CBT%:I
I llJ_:Irlllll!l_‘“l ( I gtgl
! A1l 23 cal osl | as |
i @ravon 2 "7t Py “3 |
72
: A3 B3z c3Z pad : , 5 1
L |
I
© Kim Miller 20l6
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Measurement and Data 3MD5 |
Date

Name

Areds¢shapes

3. What is the area of 6.
in the

What is the areq, in
square unit's, of the
shaded figure?

The side lengths of a
square are | foot long.
Which measure
represents the area of _
the square? HEr

figure below?

; ';' ‘_—ﬁ% d' I
i L .J‘:C!?.' ==

i o) [T
o=l [
By ! B

k| =
- Sl SRR | :
= phol PPN L

167

. I square foot
. | Foot

. 4 square feet
. Y feet

. lb square units
. 12 square units
. 4 square units
.| square unit

. 9 square units
. 8 square units
. 12 square units
. I square unit

. Which statement is NOT
True?

A Two square units
have an area of 2
| square units.
square . A unit square has an
uni area of | square unit
: . A unit square has a
square side length of |
unit square unit-
. Area can be
measured using
square units.

. The figure shows the
length and width of the
tile. Which statement
about the file is True?

I 1.

™

Figure X is divided info 3
parts. Which statement
about Figure X is
correct?

[ FT.

. The tile has an area
of 4 square feet,
because x4 =4

. The tile has an area
of 2 square feef,
because | x1=2

. The tile has a unit of
| square foot,
because I x| =1

. Area canhot be
determined.

A. Figure X has an area
of 2 square units,
because there are 2
squares.

Figure X has an area
of 3 square units,
because it is divided
intfo 3 parts

Figure X has an area
of 4 square units,
because, a total H
square would cover
the figure.

im Miller 2016

. Which of the following
could be represented by
80 square fFeet?

o

A. the area of arug

B. the length of a house

C. the volume of a block

D. the perimeter of a
living room

O

r
I
I
I
I
{
]
!
I
I
[
I
!
|
l
I
b
[
|
]
b
[
b
l
I
I
I
I
i
I
L
I
L
I
I
I
I

~
()
o




I Measurement and Data

Date

: Name

shows the dimensions
of a garden What is
the area of the
shaded portion?

i
l L The diagram below
|

D = | square yard

2. What is the area of
the shaded figure
below?

4 The dimensions of a
picture frame is
shaded on the
diagram below. What
is the area of the
picture frame?

D = | square inch

5. The pattern on a rug
is shaded below.
What is the area of
the shaded pattern?

LEASURINGA peal

7. What is the area of
The shaded figure
below?

8  What is the area of
the shaded Figure
below?

r__, = | square unit

3. How many L shaped
pieces would it take
to cover the shaded
fFigure?

I
[
i
|
I
!
{
{
I
D = | square unit l
I
I
|
|
f
l
!
I
i

D = | square yard

6. Mr. Jores is putting
tile on the Floor of
his bathroom and
kitchen. What is the

bathroom

area of the floor he

plans to cover with
tile?

W00 Buay

[_l = I square yard




Name

ND THE AREA

P Measurement and Data

3MD7 i

Date

One way to find the
area of this
rectangle is to count
each square. Which
of the following is
another way To find
the area?

A o6+H4
B. 6x4
C. 7+H4
D. 7xH4

_ The dimensions of

the rectangle are
shown in feet. What
is The area of the
rectangle?

8 ft.
3 square feet
13 square Feet
26 square feet
40 square feet

OOw>»

. The area of a
rectangular garden Tyler
built is 72 Feet. Which
could be the length and
width of the garden?

A 8 Feet x7 feet
B. & feet x 9 feet
C. 8 feet x 8 feet
D. 7 feet xI0 feet

© Kim Miller 206

Y4, Ms. Ashley used square inch tiles To
show a model of a window. Which p
equation set shows two ways to 12345678
find the area of the window? )

7. Which number
sentence shows how
to find the area of
the square?

3+3+3+3+3+3=6x3
b+6+b6b+6+6+6=3%X06
3x3x3x3x3x3=6x3
6b+6+6=3+06

5. Jessica is using square pleces of
paper to cover a rectangular A
bulletin board? The board is 20 B 5+5+5+5+5
C
D

feet long by 5 Feet wide. Each piece . 5x5x5%x5x5

of paper is | Foot long and | Foot . 5x%x5

wide. None of the pieces of paper

paper will Jessica need o cover theater is shown

+he bulletin board? (Draw a picture below. The totdl

+o solve the problem) area of theater

A 75 floor is

B 50 (23x N+ (7 x9D

C. 100 square yards. Which

D. 125 expression is

| equivalent to the

6. Sam covered the front and back total area of the

of his math book with contact theater floor?
paper. The front of the book is
+he same size as the back. What is
+he total area of the front and

A. 120 sq.in.
B. 60sq in
C. 32sdin
D. 20sq. in.

et L oiari b

!

I

I

]

I

I

I

I

|

I

|

will overlap. How many pieces of 8 Adagram of a :
L

I

|

L

I

l

|

|

i

—1

A 9Ax (23 +7) |
B. Ax(23x7) I

Lo C. A+(23+7)
o D. 9+ (23x7) j
|| ==y




i Measurement and Datq

: Name

FIND THf PERTM

I I Katie wants to put

fencing around the
l outside edge of her
I garden. To do this,

she needs to know
{ the perimeter. What
l is The perimeter of
l Katie’s garden?

-1 foot

IO Feet
18 feet
20 feet
24 feet

SOw>

. The picture below
represents a patio
that measures 6 £t
on each of its six
sides. What is the
perimeter of the
patio?

6 ft

A 6 feet
B. 12 feet
C. 36 feet
Y2 feet

B N N
Miler 2016

O
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3. Ben compared the area and
perimeter of the two figures
below. Which statement is true?

Figure B

Figure A

LITTTT]

A. The figures have the same
area but different
perimeters.

B. The figures have the same

perimeter but different area.

C. The figures have the same

perimeter and the same areq.

D. The figures have different
areas and different
perimeters.

4 Mrs. Absher bought a rectangle
rug for her living room. Which
staterent about the rug is
true? D et

o
=

The perimeter is I08 Feet.
The area is 42 feet

The area and perimeter are
the same.

The perimeter is 42 feet and
the area is 108 Feet.

5. Amy wants to sew a fringe
border around her square
shaped blanket. One side of her
blanket measures 9 inches.
How many inches of Fringe
border does she need?

O o>

Date

6.

g‘f i’%

7.

ETER

The square has the l
Same perimeter as

the triangle. What is |
the length of each

side of the square?

6cm.

A. 6 centimeters
B. 8 centimeters
C. 12 centimeters
D. 24 centimeters

)

[
Mattie is making a I
blanket For her l
mother that I
measures 54 inches
by 68 inches. What is i
the perimeter of the I
blanket?

—_—
---------------—-----




Which quadrilateral _ Which pair of polygons
has only one pair of are parallelograms? 7. Tessa drew a quadrilateral with

pardliel sides and no only one pair of egual sides.

right angles? A Which shape could she have
drawn?

B

A. rectangle
B. rhombus

C. square

D !
j DD . ﬁ A 8 D. fropezoid :
o @ 9% i

. Which figure is described below?

+ has 4 right angles
+ has 4 congruent sides

. Has two sets of pardllel sides
rhombus, rectangle,

or pardlelogram. Which of the Following A circle

Which shape did she statements dbout B, rectange
draw? square and rectangles is C

correct? D. SEATFS

' B.ETEE . triangle
. A. A square is Type of .
rectangle with 5 sides. 9. Ricky said the shape below is a

B. A square hos 4 right quadriateral. Which statement
D. angles, but a rectangle explains why he is incorrect?
has O right angles.

. Hattie drew a shape
+that cannot be
classified as a

. Asquare is a Type of
~ What is the rectangle with 4 equal

difference between a sides.
square and a
rhombus?

. A square has 2 pairs of

i
i
parallel sides, but @ A. A guadriateral must have 4 I
rectangle only has | pair sides. |
A rhombus has 4 of parallel sides. . A quadriateral must have 2 i
obtuse angles. _ sets of pardllel sides.
. Asquore has Hequal 6. What'is frue about all . A quadriaterdl must have ||
sides. quadriaterals? to acute angles and zero i
A rhombus only has i right angles.
one pair of paraliel . They have 4 right angles. . A quadriateral must 2 |
sides. . The have | pair of pardliel sides and at least | "

i paralle! sides. i
. A square has 4 right ~ They have 4 rightt angles. right angle.

angles. . They have 4 sides.

© Kim Miller 20i6 24.




The football coach divided

Which diagram did

shape so each section is +

The area of the shape. Which Mr. Hamby shade?

grapes oranges lermons plums

shape is 4 the area of a A B

I the reldinto equal sections, 5. Jake ordered a pizza 8. The figure below I
J ¢S shown below. What areq cut into 8 equal represents4-of a
of the field is in each section? sections. He ate one plece of poster '
i slice. What fraction board What did the |
l A % B. % of the pizza did Jake whole piece look like?
1 1 eat? I
I 2. Which drawing shows % 1 ‘v 1 A B. i
| shaded? A 2 B. B I
I c ¥ D. 1 | I
l A B. C. D. /_’ // I
l 6. Tara has a frut
Ic 7 5 ‘ ;’grgngqm?fs ;Sc gi(\)/;‘dsed 9 Mr. Hamby mowed +
. . : his yard,
/ T What fraction of or{: Jsdyqr‘g e +
| the Fruft stand is e ol all
I o used for each kind i
3. Kelly wants to draw lines in a OF Prite mowed section.
I :
[

triangle?

bananas apples

A c.'j ] ]e

I

I

!

i

I

v

I

() [\ '
B. I

Q D. D ¢% D I0. Kari spiit her sock I
7. Three students sat drawer up like the :

I

i

I

|

i

|

A

o= sl
oo ofn

C

on equal sections of diagram below. What

4. The area of Ned's baseball a park bench. Which ared of Karfs sock
card page s I6 square inches. bench has the area Sggl\:/se; has blue

IF Ned divided his page into of one student
fourths, what is the area of shaded? i | e | we | o

one section? T
Al B.

A 4 square inches B, 20 square inches

: 2
D[ A
' C. 12 square inches D. &4 sguare inches ' ' C. %
_-----___-----___-----
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